STICK LAYING:
MODELING,

REVIEW’S QUESTION DOX

M. 0. M— — Please give w‘hat Prof Waddell
would call a perfectly correct answer - to -the
questions on physics and chemistry in the
provincial examination papers of July 1912? '

If a locomotive weighing 100,000 Ibs, starting froma ststio“ ‘
gains a velocity of twenty féet per second in ten seconds,
what forcembemgexertedbyﬂ;eengine uﬂgmmkthatthe

force is all employed in movmg thz
the umtmwhlchyourtmis :

ing are units of force; foot, pemdm;a, pound weight,
poundal, erg;, gram, dyne, /ne- er?. :
Avelocxtyofzoft.perseeondgamed in ten e

seconds’is 2 ft. 'per ¢ inone second. The

force reqmredtogwe one pound a ocity of one

ft. per second in one,segond 1s mﬁed a poundal

and the force required to give 100,900 Ibs. a.

velocity of two ft. persenend m!me 'second is

therefore 100 000X2==200000 poundals. The

unit is poundals.» Pound weight, poundal and dyne

aretheumtsofforoemtheﬁstngm ey

: wwupmducednmmmtmmmandommf

is exploded? t i b
Nitrogen and water as shavm b’j"thé equation,
4NH3+30,= 2Nx+6H3Q :
It is seen from the equation since t!

of NH‘ is 4 and the coeﬁictentaf "




